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Note : —  Answers may be written either in English or in Hindi; but the same medium should

be used throughout the paper.
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Attempt All questions. .

All questions carry equal marks.
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1. (a) What is Industrial relations system ? Explain with illustrations, the content and the context

within which it operates. 15
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(b) “Industrial Relations do not cover all the problems of Industrial labour.” Do you agree

with the statement ? Explain. ' 15
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(@) “Collective bargaining is the most prime among all the method of settling disputes in

Industries.” Do you agree with the statement ? Explain. : 15
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(b) “Collective bargaining is the pride of orgaﬁized labour, for others it’s a dream.” How

effective is it in controlling Industrial disputes ? Explain. | 15
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“Prevention is better than cure.” Explain the applicability of this statement in the field
of Industrial dispute. What arrangements are made for prevention of disputes under LD.

Act, 1947 ? 15
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“There is no trade or business that is run by workers in any industry. Yet their union

s called a trade union and their powers under the union are unfathomable.” Explain the

statement. ' 15
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What are the constituents of judicial machinery in India for settlement of Industrial

Disputes ? How do they work ? 15
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(b) What is the difference between mediation, compulsory adjudication and arbitration ?

Explain each of them in brief. 15
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(@) “The only forum for workers to give vent to their ideas is workers’ participation in
~ management (WPM).” How effective is this in the management and policy making

decisions in IR ? Explain. : 15
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()] Writé short notes on any three of the following : | | 5 each
() Indian labour conference
() Code of discipline

(¢) Court of enquiry
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(@) Conciliation
(¢) Industrial committee
() Industrial tribunal.
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